031-Eddie Bauer LLC 2200 1st Ave S, Suite 400 Seattle, WA, 98134 UNITED STATES Department: 031 Region: 10

PURCHASE ORDER as of Fri Oct 25 06:03:07 UTC 2024

Contract ID 383460272662	Contract Ref		
Order Number	Issue Date	Version	П
4500002757	2024-10-02	20241003041947	

E INDUST L FARIDAL L INDIA E Region: R Region: O N Room 22 S 88 Conta O Hong K L HONG K	nsolidatio 406-07, 24/ ainer Port, I ng, Kowloo ONG CONG	n Ser FI., To Kwai	1	ain Plaza	S 22 S Se UN G N E E O O O O O O O O O O O O O O O O O	T-Eddie Ba 00 1st Ave attle, WA, S IITED STAT - 1-Eddie Ba 00 1st Ave attle, WA, S IITED STAT	S, Suite 98134 FES auer LL S, Suite 98134	e 400 ∟C			U R 1111 S O SAT T K UN O E COI S R N NO U BAI F IND	1 Bayhill I n Bruno, C ITED STA ntact: Patri - - IT 12 - SH .37/1B / 4: NGALORE	TES icia Nacion IAHI EXPORT 3/2, 43/3	0			
Incoterm FOB - CHENI	NAI (EX MA	ADRA	AS), TAMIL NAI	AIONI LIC	Partial Sh	nipments Pe		dow owed			Transship	ments	No				
Payment Terms		10117	(O), 17 (IVII L 147 (I	JO, 111D171	Shipping	Mode	7 (11)	owcu			Business	Code	140				
120 Da	ays from Do	ocum	ents Presentat	ion	0		S	SEA					0007				
Business Code			15 1104		Last Revi	sion Date	0004				Supplier 0	ode	40000000	10			
Department	ER MHOI	LESA	LE - USA		Order Typ	ne Code	2024	1-10-03			factoryCo	100000040					
	S PERFOR	RMAN	ICE SPORTSV	/R	Older Typ	De Code	W	'HSL			lactoryco	JC	100000026	63			
domesticvendo	or				Canadian DC Closure Flag						isUnified	isUnified					
		False	!		false								true				
Domestic Vend		False	1		Accountin	ng Code	0001	/l02450			Shipment		25-03-27 / 202	5-03-27			
Shipment Meth		. 0.00			Country (Of Origin					Freight Pa		10 00 1. 7 201	.0 00 2.			
	(Ocear	n				IN	IDIA					Collect -				
Line #		Bu	yer Item #		Short [Description				Quanti	ty	L	Jnit Price (USI	D)	Cost (USD)		
0001		03	1-5855			ASTER S:BLCK	VNK	MIDI		360			14.17*		5,101.20		
Item Status			OPEN		De	estination				SPARC LLC							
Ship Window Sta	art Date		2025-03-27		Sh	ip Window E	nd Date			2025-03-27							
Color			100		Bu	yer's Style #				21550886							
	Size Code	Size	UPC#	SKL	J#	Ticket Type	Qty Pe	er Inner Pa	ack	PO Retail Price	Item Qty		Unit Unit Cos	t Cost			
	0040	S-	197806432163	EB03158550	001000040	G		(001	99.00	Item C	ty 72	14.17	1,020.24			
											Shipment Meth						
											Retail Pri						
	0050	M-	197806149412	EB03158550	001000050	G		(001	99.00	Item C	-	14.17	1,360.32			
											Shipment Meth						
	0060	L-	197806077173	EB03158550	201000060	G			001	99.00	Retail Pri		14.17	1,360.32			
	0000		197000077173	LB03136330	301000000				001	33.00	Shipment Meth	-	14.17	1,300.32			
									_		Retail Pri			+			
	0070	XL-	197806264764	EB03158550	001000070	G		(001	99.00	Item C		14.17	1,360.32			
											Shipment Meth	-		1			
							1				Retail Pri	ce 99.00					
							İ			Total		360		5,101.20			
0002		03	1-5855		WR DRESS	ASTER S:IRIS	VNK	MIDI		840			14.17*		11,902.80		
Item Status			OPEN		De	estination				SPARC LLC							
Ship Window Sta	art Date		2025-03-27			ip Window E	nd Date			2025-03-27							
Color			349		Bu	yer's Style #				21550886							

031-Eddie Bauer LLC 2200 1st Ave S, Suite 400 Seattle, WA, 98134 UNITED STATES Department: 031 Region: 10

PURCHASE ORDER as of Fri Oct 25 06:03:07 UTC 2024

Contract ID	Contract Ref	
383460272662		
Order Number	Issue Date	Version
4500002757	2024-10-02	20241003041947

Line #		Ві	uyer Item #	Short Description				Quantity			Unit Price (USD)				
	Size Code	Size	UPC#	SKU#		Ticket Type	Qty Per Inner	Pack	PO Retail Price	Item Qty		Unit	Unit Cost	Cost	
	0040	S-	197806680410	EB0315855003490	0040	G		001	99.00	Item Qty	192		14.17	2,720.64	
										Shipment Method	Ocean				
										Retail Price	99.00				
	0050	M-	197806845260	EB0315855003490	0050	G		001	99.00	Item Qty	216		14.17	3,060.72	
										Shipment Method	Ocean				
										Retail Price	99.00				
	0060	L-	197806578779	EB0315855003490	0060	G		001	99.00	Item Qty	216		14.17	3,060.72	
										Shipment Method	Ocean				
			İ							Retail Price	99.00				
	0070	XL-	197806993145	EB0315855003490	0070	G		001	99.00	Item Qty	216		14.17	3,060.72	
					T					Shipment Method	Ocean				
										Retail Price	99.00		i		
					\neg				Total		840			11,902.80	
0003		03	31-5855			ASTER S:DUSK	VNK MIE) I	360			,	14.17*		5,101.2
Item Status			OPEN			stination			SPARC LLC						
	Start Date		2025-03-27 581			ip Window E yer's Style #	nd Date		2025-03-27 21550886						
	Start Date Size Code	Size	581	SKU#				r Pack	21550886	Item Qty		Unit	Unit Cost	Cost	
		-	581	SKU# EB03158550058	Bu	yer's Style #		r Pack	21550886		72	-		Cost 1,020.24	
	Size Code	-	581 UPC #		Bu	yer's Style #			21550886 PO Retail Price						
	Size Code	-	581 UPC #		Bu	yer's Style #			21550886 PO Retail Price	Item Qty	Ocean				
	Size Code	-	581 UPC # 197806779329	EB03158550058	Bu 10040	yer's Style #			21550886 PO Retail Price	Item Qty Shipment Method Retail Price	Ocean 99.00		14.17		
	Size Code	S-	581 UPC # 197806779329	EB03158550058	Bu 10040	yer's Style # Ticket Type G		001	21550886 PO Retail Price 99.00	Item Qty Shipment Method Retail Price	99.00		14.17	1,020.24	
	Size Code	S-	581 UPC # 197806779329	EB03158550058	Bu 10040	yer's Style # Ticket Type G		001	21550886 PO Retail Price 99.00	Shipment Method Retail Price	99.00 96 Ocean		14.17	1,020.24	
	Size Code	S-	581 UPC # 197806779329 197806876011	EB03158550058	Bu 10040 10050	yer's Style # Ticket Type G		001	21550886 PO Retail Price 99.00	Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price	99.00 96 Ocean 99.00		14.17	1,020.24	
	Size Code 0040 0050	S-	581 UPC # 197806779329 197806876011	EB031585500581	Bu 10040 10050	ryer's Style # Ticket Type G		001	21550886 PO Retail Price 99.00	Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price	99.00 96 Ocean 99.00 96		14.17	1,020.24	
Ship Window S Color	Size Code 0040 0050	S-	581 UPC # 197806779329 197806876011	EB031585500581	Bu 10040 10050	ryer's Style # Ticket Type G		001	21550886 PO Retail Price 99.00	Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price Item Qty	99.00 96 Ocean 99.00 96 Ocean 99.00		14.17	1,020.24	
	Size Code 0040 0050	S-	581 UPC # 197806779329 197806876011 197806091407	EB03158550058* EB03158550058* EB03158550058*	10040 10050 10060	ryer's Style # Ticket Type G		001	21550886 PO Retail Price 99.00 99.00	Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price	99.00 96 Ocean 99.00 96 Ocean 99.00 96 Ocean		14.17	1,020.24	
Ship Window S Color	Size Code 0040 0050 0060	S-	581 UPC # 197806779329 197806876011 197806091407	EB03158550058* EB03158550058* EB03158550058*	10040 10050 10060	yer's Style # Ticket Type G G		001	21550886 PO Retail Price 99.00 99.00	Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price	Ocean 99.00 96 Ocean 99.00 96 Ocean 99.00 96 Ocean 99.00 96		14.17	1,360.32 1,360.32	
	Size Code 0040 0050 0060	S-	581 UPC # 197806779329 197806876011 197806091407	EB03158550058* EB03158550058* EB03158550058*	10040 10050 10060	yer's Style # Ticket Type G G		001	21550886 PO Retail Price 99.00 99.00	Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price Item Qty Item Qty	Ocean 99.00 96 Ocean 99.00 96 Ocean 99.00 96 Ocean 99.00 Ocean		14.17	1,360.32 1,360.32	
	Size Code 0040 0050 0060	S-	581 UPC # 197806779329 197806876011 197806091407	EB03158550058* EB03158550058* EB03158550058*	10040 10050 10060	yer's Style # Ticket Type G G		001	21550886 PO Retail Price 99.00 99.00	Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price Retail Price Item Qty Shipment Method Retail Price	Ocean 99.00 96 Ocean 99.00 Ocean 99.00 Ocean 99.00 Ocean 99.00 Ocean		14.17	1,360.32 1,360.32	
Color	Size Code 0040 0050 0060	M-	581 UPC # 197806779329 197806876011 197806091407	EB03158550058* EB03158550058* EB03158550058*	Bu 110040 110050 110060 110070	yer's Style # Ticket Type G G G G ASTER	Qty Per Inne	001	21550886 PO Retail Price 99.00 99.00 99.00	Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price	Ocean 99.00 96 Ocean 99.00 96 Ocean 99.00 96 Ocean 99.00 96 Ocean 99.00		14.17	1,360.32 1,360.32	1,640.4
Color	Size Code 0040 0050 0060	M-	581 UPC # 197806779329 197806876011 197806091407	EB03158550058* EB03158550058* EB03158550058*	Bu	yer's Style # Ticket Type G G G G ASTER	Qty Per Inne	001	21550886 PO Retail Price 99.00 99.00 99.00 7otal	Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price	Ocean 99.00 96 Ocean 99.00 96 Ocean 99.00 96 Ocean 99.00 96 Ocean 99.00		14.17	1,360.32 1,360.32	1,640.4
Color 0004	Size Code 0040 0050 0060	M-	581 UPC # 197806779329 197806876011 197806091407 197806882906	EB03158550058* EB03158550058* EB03158550058*	Bu	yer's Style # Ticket Type G G G G ASTER S:IRIS	Qty Per Inne	001	21550886 PO Retail Price 99.00 99.00 99.00 7otal	Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price	Ocean 99.00 96 Ocean 99.00 96 Ocean 99.00 96 Ocean 99.00 96 Ocean 99.00		14.17	1,360.32 1,360.32	1,640.4

031-Eddie Bauer LLC 2200 1st Ave S, Suite 400 Seattle, WA, 98134 UNITED STATES Department: 031 Region: 10

PURCHASE ORDER as of Fri Oct 25 06:03:07 UTC 2024

Contract ID Contract Ref 383460272662 Order Number Issue Date Version 4500002757 2024-10-02 20241003041947

Line #		Bu	yer Item #		Short [Description			Quantit	ty	L	Jnit P	rice (USD)	Cost (US
	Size Code	Size	UPC#	SKU #	:	Ticket Type	Qty Per Inner I	Pack	PO Retail Price	Item Qty		Unit	Unit Cost	Cost	
	0030	XS-	197806169632	EB031642700	3490030	G		001	99.00	Item Qty	24		13.67	328.08	
										Shipment Method	Ocean				
										Retail Price	99.00				
	0040	S-	197806469008	EB031642700	3490040	G		001	99.00	Item Qty	24		13.67	328.08	
										Shipment Method	Ocean				
										Retail Price	99.00				
	0050	M-	197806887949	EB031642700	3490050	G		001	99.00	Item Qty	24		13.67	328.08	
										Shipment Method	Ocean				
										Retail Price	99.00				
	0060	L-	197806113796	EB031642700	3490060	G		001	99.00	Item Qty	24		13.67	328.08	
										Shipment Method	Ocean				
										Retail Price	99.00				
	0070	XL-	197806890116	FB031642700	8490070	G		001	99.00	Item Qty	24		13.67	328.08	
		7.2	10700000110	LB0010427000	7100010			001	00.00	Shipment Method			10.07	020.00	
										Retail Price	99.00				
				 					Total	TCE CALL TO THE	120			1,640.40	
2005		100	1.0400		\A/T	NOTED 1	ALIC MIDI		l		120		4.07*	1,040.40	4 400
0005		03	1-6428		DRESS		/NK MIDI		96			1	4.67*		1,408.
Item Status			OPEN		De	stination			SPARC LLC						
Ship Window S	tart Date		2025-03-27		Sh	ip Window Er	nd Date		2025-03-27						
Color			349		Bu	yer's Style #			21550886						
	Size Code	Size	UPC#	SKU #		Ticket Type	Qty Per Inner F	Pack	PO Retail Price	Item Qty		1 Init	Unit Cost	Cost	
	0040		197806908064			G G		001	99.00	Item Qty	24	O m	14.67	352.08	
	0040	5-	197806908064	EB031042800	3490040	G		001	99.00				14.07	352.08	
										Shipment Method					
										Retail Price	99.00				
	0050	M-	197806724022	EB0316428003	3490050	G		001	99.00	Item Qty	24		14.67	352.08	
										Shipment Method					
										Retail Price	99.00				
	0060	L-	197806484483	EB0316428003	3490060	G		001	99.00	Item Qty	24		14.67	352.08	
										Shipment Method	Ocean				
										Retail Price	99.00				
	0070	XL-	197806886126	EB031642800	3490070	G		001	99.00	Item Qty	24		14.67	352.08	
										Shipment Method	Ocean	İ			
										Retail Price	99.00	İ			
									Total		96			1,408.32	
0006		03	1-6429	1			VNK MIDI		240			1	6.30*		3,912.
Item Status			OPEN		DRESS	stination			SPARC LLC						
Ship Window S	tart Date		2025-03-27			ip Window Er	nd Date		2025-03-27						
Color	tart Bato		349			yer's Style #			21550886						
	Size Code	Size	UPC#	SKU #	:	Ticket Type	Qty Per Inner F	Pack	PO Retail Price	Item Qty		Unit	Unit Cost	Cost	
	5000	1X-	197806296888	EB0316429003		G		001	99.00	Item Qty	72	<u> </u>		1,173.60	
	3000	.,,	2.2020000	1					00.00	Shipment Method			. 3.00	.,	
										Retail Price	99.00				
	F004	27	197806917158	ED034643000	2405004	G		004	00.00				10.00	1 564 00	
	5001	2X-	191000911758	EB0316429003	LOnce+	G		001	99.00	Item Qty	96		10.30	1,564.80	
				<u> </u>						Shipment Method	-				
										Retail Price	99.00				
	5002	3X-	197806079474	EB0316429003	3495002	G		001	99.00	Item Qty	72		16.30	1,173.60	
										Shipment Method	Ocean				
										Retail Price	99.00				
									Total		240			3,912.00	
			-							-	-	-	-	. 1	29,06

031-Eddie Bauer LLC

2200 1st Ave S, Suite 400 Seattle, WA, 98134 UNITED STATES Department: 031 Region: 10

PURCHASE ORDER as of Fri Oct 25 06:03:07 UTC 2024

Contract ID 383460272662	Contract Ref	
Order Number 4500002757	Issue Date 2024-10-02	Version 20241003041947

Line #	Buyer Item #	Short Description	Quantity	Unit Price (USD)	Cost (USD)
				* Represe	nts Subline Average
Totals					
				Merchandise Amount	29,065.92
				Total Adjustment	0.00
				Total Taxes	0.00
				Order Total	29,065.92
				ı	

Required Documents

Commercial Invoice

Transport Manifest - completed by Consolidator (LSP).

Goods Receipt

Document, Packing Slip, requires an Acknowledgement from the Seller. (Notes - Scan and attach)

Document, Certificate of Origin, requires an Acknowledgement from the Seller. (Notes - Scan and attach where applicable)

Document, FCR for Ocean Shipments, requires an Acknowledgement from the Seller. (Notes - Scan and attach where applicable)

Document, Airway Bill of Lading for Air Shipments, requires an Acknowledgement from the Seller. (Notes - Scan and attach where applicable)

Document, Importer General Conformity Assessment Certificate, requires an Acknowledgement from the Seller. (Notes - Scan and attach)

Additional Terms

Seller will be required to certify that it has obtained all applicable authorizations, approvals, licenses, quotas, visas, certificates of origin, and other documentation to permit the exportation of the merchandise from the country from which the merchandise will be shipped in compliance with all applicable laws and regulations of the country of exportation. Seller also certifies that it or its designated agent will obtain and provide all of the applicable authorizations, approvals, licenses, quotas, visas, certificates of origin, other documentation, and information required to permit importation of the merchandise into the destination country in compliance with all applicable laws and regulations in the importing country.

(Acknowledgement required on each invoice)

Seller

(Acknowledgement required on each invoice)

All Orders are subject to the terms of the executed vendor agreement, which may include certain discounts. All discounts agreed to will be referenced on the commercial invoice and reflect a certain percentage discount off of Product Price for Products tendered to Eddie Bauer LLC or the Eddie Bauer LLC licensees.

(Acknowledgement required on each invoice)